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L Please check that this question paper contains 10 printed pages + 1 Map.

o Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

L Please check that this question paper contains 26 questions.
° Please write down the Serial Number of the question before attempting it.

o 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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(iv) F57 G&I18 T 18 T I4% Yo7 3 3% FT 8 | 578 & b 97 &7 I 80 5] @
37181 &7 787 BT FNBET |

(v) I GET19 G 25 7% JI% J97 5 3 H & | 578 G Fo% 97 H7 37100 Jsg) G
371e1% &7 787 BT FNBT |

(vi) I GEIT 26 FHIET @ TEE1ET 3 | 399 G 91T 8 26(A) 37 26(B) 126(A) 2 37 &
31987 @ 7T 26(B) 3 37 T YT @ & | Frfad 71 J97 qUf 817 T 38 3791 I -
GI&THT & Gy 775 FRT |

(vii) T Fo7-97 8 fadbey 781 & | 1% o % yeai 7 srales Aoy &8 | 0F gyt w7 @
Y% & 319! T &1 fadebeq 57 HAT 8 |

General Instructions :
(i)  The question paper has 26 questions in all. All questions are compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each

question carries 1 mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these

questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these

questions should not exceed 100 words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion

attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.
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1. 1960 3 SR JAferehe forepreriel oIt = 379+ 3TT9eh! THg 77 | FAT Trfad fomam ? 1
FreaT
5% sfean o’ 3 ETedt i ffad @ <t o
JreET
185/ STaTedt H g U 9t HEAT B Sl bl 3k TR g1 HTEA! I o hI W R
TeheT T 7

Why did most developing countries organize themselves into the Group of 77 during
1960s ?

OR
Why did the East India Company appoint ‘Gomasthas’ ?
OR

Why were large number of children pushed to low-paid work during the 18" century in

London by their parents ?

2. JUUH 14 | GRH TIvgAtaEt, frarei hi srgdl J1T I G T T8l B Hehi 7 1
YT
=Ted fefera g foftaa ‘fohfore Uoel’, 1836 1 T HEwaqUl TeT i o1 ?

Why could not manuscripts satisfy the increasing demand of books in Europe during

fourteenth country ?
OR

Why was ‘Pickwick Papers’ written by Charles Dickens became a notable event of
1836 ?

3. THTAT o MR 9 ETEET ol ST TR0 shifolu | 1

Classify resources on the basis of exhaustibility.
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4.

32/1

Sfcsam Sl AT ThR 3R Aficient i TgHEIhaTe] TR H 3T T HifT | 1

Differentiate between community government in Belgium and majoritarian government
in Sri Lanka.

< Ffeaal o foeh® o a&d frg TR =T gl gehd @ ? 1

How can two persons have different developmental goals ?

9 g Wik IcaTe) I 31 ¥4I § ufafda i €, a9 98 nfafafy fra snffe ek
3Tt et 7 7 1

When we change natural products into other forms, which category of economic sector

such activity comes ?

TG ! faf e 61 Wi ol e foha St g 7 1

Why is money accepted as a medium of exchange ?

Yo fova gg' o 9T fsrea <6t 3mfefes gumai w1 aui Hifv | 3x1=3
YT
St T 3 R 3 Wi e ity 7 ao HR |
JHYCT
Iferelt vraTedt 3 2 S (qEs) H STatt b Rt S e st w1 avi iR |
Describe the economic conditions of Britain after the ‘First World War’.
OR
Describe the role of ‘Jobbers’ in the beginning of twentieth century in India.

OR

Describe any three major problems faced by migrants in Bombay (Mumbai) during
nineteenth century.
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9.

10.

11.

12.

13.

32/1

“BUEH T f=Rl % U JIR-T9R 3R Sed-Ga1e8 & gR G |7 HUT 1 fageror

70 F ot o gewl 7 hifu | 3
FeET

“Irreig & IUATET B TS 6 B EH T I A it i § 17 e w1 faveryo

SR Hfed <hITTT |

“Print created the possibility of wide circulation of ideas and introduced a new world of

debate and discussion.” Analyse the statement in the context of religion in Europe.
OR

“Premchand’s novels are filled with all kinds of powerful characters from all levels of

society.” Analyse the statement with examples.

T T 99T STeT GUET hid shi STELIehdl F41 & 7 T8¢ HIT | 3

Why is there a need to develop rainwater harvesting system in India ? Explain.

A H Tgeh Uiaed i foheal <A T Twenati i = Hif | 3x1=3

Explain any three major problems faced by road transport in India.

TRA oh8 TopR < HE el & 31T 3TAT & 7 39 YR <hl HEy e 6t fovgl a1
Toreranat = St HifsT | 1+2=3

Under which type of federation India comes ? Mention any two features of such

federation.

AT B ST SHTEAT 1 GHT A oh foTu Ioerfl fordi 1 i i avH R | 3x1=3

Describe any three factors that are responsible for breaking down of caste system in

India.
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14.

15.

16.

17.

18.

19.

32/1

“THIet 3T < ToTT 3T B |7 9 e 1 =AIETA 38UsT | 3

“Challenge is an opportunity for progress.” Justify the statement.

3 gfg % fore waa dfie e sifasmayas w1 & 7 T Hif | 3

Why is sustainable development essential for economic growth ? Explain.

GreaTfeh &k TS o ATk T T opH Toh R INTEH i1 & 7 Tse SHIfST | 3x1=3

How does public sector contribute to the economic development to the nation ? Explain.

“ AT &k shl w1 NdfafeR w1 Bdicdiiad fopa ST I1fET |7 dehl @fgd o 6l
gfte HifT | 3x1=3

“The credit activities of the informal sector should be discouraged.” Support the

statement with arguments.

“Iqeierd] foramr gfskan Sifeet, @=iell 31 am |rey |ifed 81 @ 2 |7 59 SuE % HIeE
o ToTu fepegl 1 adient =l e hifsTu | 3x1=3

“The consumer redressal process is becoming cumbersome, expensive and time

consuming.” Explain any three ways to solve this problem.

THETE ShTfenTial g BTE AT § Teh AHfeeh Ta= hl WIeHT Uel i o folg IRy

fep e fepet wier Sumeit b i <ifie | 5x1=5
YT
“YehTT Sl & < Torehrd o6 foru Wi gra Sete mu fopeel Ui shedt h i hif |
6 cn
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Describe any five measures introduced by the French Revolutionaries to create a sense

of collective identity amongst the French people.
OR

Describe any five steps taken by the French to develop the ‘Mekong Delta Region’.

20. TS 3 SRt Uete T (1919)  foeg s Tsgeamdt Teamig =ei o1 i =i fofam 2

3qeh fortry forg g foman T 7 =3 HifSw | 2+3=5
YT
“THeh I IUMAETe o foeg ferier vt waTelt wefteh it | 78 2 samean hifve | 5

Why did Gandhiji decide to launch a nationwide ‘Satyagraha’ against the proposed
Rowlatt Act (1919) ? How was it opposed ? Explain.

OR

Why was the ‘Salt March’ considered an effective symbol of resistance against

colonialism ? Explain.

21. TGN qUT T I b GEId: BIEFFYL TSI &7 T Hebgul o fo1¢ Iigrh fohedl ura

S| <h! ST HIfT | 5x1=5
JAYET

TTHA ITNT o J&Id: BT ¢! o qi o ag-a1 fera g o fote Itrerft feredl i sment

& =T i |

Explain any five factors that are responsible for concentration of ‘iron and steel’

industries mainly in ‘Chhotanagpur Plateau Region’.
OR

Explain any five factors that are responsible for the location of the ‘jute mills’ mainly

along the banks of the ‘Hugli River’.
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22. “9RA H HY T Thol B 3G H Tl 3 TR Tt 1 foww 2 17 39 e g
HIfT | 5x1=5

“The declining share of agriculture in the Gross Domestic Product (GDP) is a matter of

serious concern in India.” Support the statement.

23. Aehdd ol FSTEQ S H & TSIk Sl o Haw Sl JUH hisT | 5x1=5
YAl
TATRATIN TR H TSHITeh Gl oh HEw 1 dUIH ShIT |

Describe the importance of regional political parties in strengthening democracy.
OR

Describe the importance of political parties in a Democratic Government.

24.  “freprdl 1 s &A1 SAlehdd shl GheTdl <hl TeTal 2 |7 38 heid shl =A—ETd 3gUsy | 5

‘Complaints are treated as testimony to the success of democracy.” Justify this

statement.

25.  “foresll SO @ 3T 3R 3cTeh fohE TR oHTf=Id & Hehd & ¢ 3CTEul Higd sare
HifS | 5x1=5

YAl

%S 81 a8 H BN ST9R fohel TehR THafd & T 8 7 IGTell |led SARe ity |

How can consumers and producers be benefited from ‘foreign trade’ ? Explain with

examples.
OR
How have our markets been transformed in recent years ? Explain with examples.
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26. (A) @ WU (a) HR (b) U % feu MT Ui @r-wHtes # 3ifed e MU R | 3
AT bl ffarfitad SHeRi) <kl HerdT 8 Tg=nHT 3R 39 AW qHts W gkl 18
T3t R fefgu 2x1=2

(i) 98 T STET YA TS HTIH T ST g3t |
(i) 98 TR ST AfTITdTeAT T 1 T 58 |

(B) et few Tu Wi % Troiieres Y@T-AHtes § frefeRad w1 suged fuedi § quisy 3ii
3ok 7 R 3x1=3

(i)  <hTeell : TqE FYSY o

(i) ToreTTs : <iET 3R 3TTa wa
(iii) ST : JTTUTTereh Sl G

(A) Two features (a) and (b) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked on the map :
(i)  The place where the Indian National Congress Session was held.
(1)) The city where ‘Jallianwalla Bagh’ incidence took place.
(B) Locate and label the following with appropriate symbols on the same given
outline political map of India :
(i) Kandla : Major Sea Port
(i1)) Bhilai : Iron and Steel Plant

(i11)) Kaiga : Nuclear Power Plant
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e :  frfafad ye e gieeatem whari o ot T S 26 F M We : 5x1=5

(26.1) 3T TAM 1 AW &l ¥ AT TG TR I[E 3T AT |

(26.2) 3T TS 1 T feian St SR -< ge ufed 8 |

(26.3) 3T UST 1 T8 gl Hisal T To fRa 7 |
(26.4) 3T T H1 719 &1 1S g 3R 307 2 fera 2 |
(26.5) 3 TS I T TT&T 1T SATUTTh Sl HI T 2 |

Note : The following questions are for the Visually Impaired Candidates only in

lieu of Q. No. 26 :

(26.1) Name the place from where the Civil Disobedience Movement was

started.
(26.2) Name the state where Chauri-Chaura incidence took place.
(26.3) Name the state where Kandla sea-port is located.
(26.4) Name the state where Bhilai ‘Iron and Steel Plant’ is located.

(26.5) Name the state where Kaiga ‘Nuclear Power Plant’ is located.
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TR H. 26 3 T A
Map for Q. No. 26
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